523

8.1

45

2 8

533

(5 2.3+ &P -
(A8 +B M)=53

156




(n v
N O 0.00 19 - 00 -
N O 2 0.00|0 82 10Q 02 20
N O 2 0.00|0 89 170Q 01 30
N O 2 0.00|0 72 160 01 20
EP 10.08|0 71 772, 01 11
N O 0.00 02 -
N O 2 0.00|0 02 40
N O 2 0.00|0 02 40
N O 2 0.00|0 03 50
EP 2 0.00|0 03 60

150080 5229 81




(n A \Y Vv
N O 0.0 06 - 04 -
NO 20.00 06 1 20. 04 80
N O 20.00 06 1 20. 04 80
N O 20.00 06 1 20. 04 80
EP 10.08 06 65 04 43

7 0 .08 4 25. 2 83.




(n A \Y
N O 0.0 08 -
N O 20.00 26 3 40.
N O 20.00 29 5 50.
N O 20.00 19 4 80.
EP 10.08 21 2 16.

70.08 158




(A

NO

NO 3 + 108

6 9 m9

(B

NO




CA

(3,30

(1)
0.6 x 0.3 x 100

(RC-40,)

0.6 x 100

0.6 x 100

10.

10m

100




1. U

G3P
2. (1)

0.8 x 0.2 x 100
3. ( B 6x2L01 0)

4 .

100 / 1.0

(RC-40,)

0.2 x 100

0.2 x 100

10.

10.

10m

100

10




)

Jg 3

, 300

13

)

300




3

, 300

(P
6 99

(P
6 99

100

1320

13

13

13




NO O

NO 3 + 108




( 5x0500%06 0)

2 X 10
2 X 10
( 5x0500 0, T

10

10

10.

10.

10

10

10




, TOP13)

5511

5511

5511

5511

556

556




As, tnr4dc M-30, m=10c

(n L A L A

NO 0.00 4 .19 - 4 .19 -
NO 20.00/0 5.31 1000 5.31 1000 |4
NO 20.00[0 4 .28 9905 4.28 9905
NO 20.00/0 5.91 1000 5.91 1000 |1
EP 10.08/0 5.02 561 5.02 5611

NO 0.00 2 .50 - 2 .50 -
NO 20.00[0 2 .84 450 2.84 4508
NO 20.00[0 2.00 440 2 .00 4408
NO 20.00[0 3.00 500 3.00 5000
EP 20.00[0 2.45 550 4 2 .45 5504
150080 55 11 5511 |6




2.6

t= 1cth

3608

t= 1ch

5.2




u

u

(

0.36 x
(1808
05. X
( Ap25)0
n/4 x
(230
( 03 3B

2.50 +

0.
0.

(0.

0

3

.08 x 0.46 -
.36 x 0.36 x 0

(005x 0.05
. Do

36 x 0.90

2 - 0.8 x 0. 1)8 1 16
3060 . 2p%2 3.05

.92 - 0.42 x 0. 2)4x 4 98.
.31

N

.92

3 6 80.

nd
26
n2
0O 3680 0
m
52




£ K

(HEER)

800

150 500 150

630

U=3E (240)

(D)

aan

5240 44

BN

250

U=FiE (180)
(EEh
260
5 150 5§
HlL—Fu o
. =Sm

HE (EEh)

Ea—LE(¢250)

=)

FL—=F 5=
14. Elkg m




As

t =dec

(n A
N O 0.00 .45 -
NO 2 0.00|0 .34 490]
N O 2 0.00|0 .71 460
N O 2 0.00|0 .84 4605
EP 10.08(0 .31 300
N O 0.00 .50 -
N O 2 0.00|0 .84 450
N O 2 0.00|0 .00 440
N O 2 0.00|0 .00 500
EP 2 0.00|0 .45 550 4

150080 3 6 80.




0.3

2.3

14

0.3

2.3

14




( )

= 0.72 03
( )

= 2.92 23
( )

3680 % 0.40

1427 1 47.

( )

= 0.72 03
( )

= 2.92 23
( )

3680 % 0.40

1427 1 47.

106 x 116 = 1226 9
140. x 498 = 6970 2
8206 1 08




AB

1.0




243

243

294

243 1.2




(n L A
N O 0.0 11 -
N O 20.00 31 4 20.
N O 20.00 46 7 70.
N O 20.00 38 8 40.
EP 10.08 36 4 00.

70.08 240




